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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 30 questions.

o ghereff orgar U To FIT-UA T T [rd)

Candidates must write their Roll Number on the question paper.
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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ geT et &

All questions are compulsory.
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(i) 797 #% 1 & 30 % FeGT 597 & HAF 97 1 7% F &

Questions from 1 to 30 are objective type questions. Each question is of

1 mark.
gos - A
SECTION - A
(e fomr)
(Physics)
1. fr=fafad & @ d9-61 @R d9 99 & e I T8 R s oaen ? 1
(A) o (B) @
(C) wfRtes (D) fred
Which one of the following materials cannot be used to make a lens ?
(A) Water (B) Glass
(C) Plastic (D) Clay
2. ARFH | @ BEd g0 7 gREcd 6 S © 1
(A) gl & (B) Ffeged &
(C) T Ew™ (D) SRaReE amr
The change in focal length of an eye lens is caused by the action of the :
(A) Pupil (B) Retina
(C) Ciliary muscles (D) Iris
3. AMEdl & e W TEEEE Bl giarid & Sl @ 1
(A) I ol H (B) WIS St H
(C) (A) Tl (B) a1 & (D) 3TH & I3 Tl
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During the burning of a candle the chemical energy converts into :

(A) Heat energy (B) Light energy
(C) Both (A) & (B) (D) None of these
4. ffafed & § $i-a1 gy afe & 787 s ? 1
(A) P=VI (B) P=I°R
(C) P=IR? (D) P:V—2
R
Which of the following terms does not represent electrical power in the
circuit ?
(A) P=VI (B) P=I°R
(C) P=IR? (D) P=V—2
R
5. T S O B & QB0 AR S A9 B ST e R 787 B TR 7 1
(A) 94U a R (B) d&al a f&F
(C) T A (D) el drt fo
A solar water heater cannot be used to get hot water on :
(A) asunny day (B) a cloudy day
(C) ahot day (D) a windy day
6. U Rs¥ & JoM R & 7 31 5 ? 1
(A)  HH IHN (B) G: ITENT
(©) T T (D) TR
What is the meaning of first 'R'in 5 R's ?
(A) Reduce (B) Reuse
(C) Recycle (D) Refuse
7. 8R X & I & U FE FHR B 30T FI9 IUGHI e 1
(A) ST (B) Sqqq
(C) THaw (D) IR § & i el
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10.

11.
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(4)

What kind of mirror would be best suited for the use of solar cooker ?

(A) Convex (B) Concave
(C) Plane (D) None of the above
fegdt at # fpe & W S R1 W ?
(A) EET (B) MemEd
(©) m (D) @
Tehri Dam is constructed on which river ?
(A) Narmada (B) Godavare
(C) Ganga (D) Yamuna
AhE T & A O ¥ e 1 FHean & 7
(A) TEET (B) 3TUgaH
(©) fagre (D) & & i T
The splitting of white light into seven colours is called :
(A) Reflection (B) Refraction
(C) Dispersion (D) None of these
fFr=fafad & @ &M STaHET el Aid @ I8ROl 78 © ¢
(A) T®S B) MY
(C) i St (D) T
Which of the following is not an example of a biomass energy source ?
(A) Wood (B) Gobar gas
(C) Nuclear energy (D) Coal
qis - §
SECTION-B
(v fam)
(Chemistry)

‘A’ H U 9 a7 A1 R

Which Acid is present in tamarinds ?

105



12.

13.

14.

15.

16.

(5)

TR R & @M § T 9% #4 f6ar § e
Why should Mg ribbon be cleaned before burning in air ?

% g foe o a9 2l ol

Name a non-metal that possesses lustuer.

% o] e St & & A9 W) O Bl ol

Name a metal which is liquid at room temperature.

ST Pl SIS TE ¢ -
(A) -OH
(C) -COOH

(B)
(D)

-CHO
-COR

Name the functional group present in ethanol :

(A) -OH
(C) -COOH

Zn+CuSoy — ZnSoy, +Cu e
(A) TS HAfHfRAT

(C) fafarema tf¥fsean
Zn+CuSoy — ZnSo, +Cu is a:
(A) Combination reaction

(C) Double displacement reaction

17. 399 & Aa® g ©

105/ 11

(A) CH,

(C) C3Hg

Molecular formula of Methane is :
(A) CHy

(C) C3Hg

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

-CHO
-COR

CRISERCIRIED
foreemae afsifshan

Decomposition reaction

Displacement reaction

CyHg

C4Hyo

CyHe

C4H10
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18.

19.

20.
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(6) 105

Had HET Td SRS aid G HEE RS el & 1
(A) Uchied (B) EESHEA
(C) UcSiEEs (D) @M

The carbon compounds which contain just carbon and hydrogen are
called :

(A) Alcohal (B) Hydrocarbons
(C) Aldehyde (D) Ketone
qls -9
SECTION-C
(cftr fo)
(Life Science)
ey § SEdy SOt © ’
(A) ST T FEH (B) SIS 1 a8
(C) ST ST & Jod (D) SiISE #1 a8
The xylem in plants are responsible for :
(A) Transport of water (B) Transport of food
(C) Transport of amino acids (D) Transport of oxygen
TEEAT & faded § 8 e SEAIFES, S q° ol odl & ARX ¥ B A B 1
(A)  HiT = (B) WA
(C) =T T (D) =&

The breakdown of pyruvate to give carbondioxide, water and energy, takes
place in :

(A) Cytoplasm (B) Mitochondria
(C) Chloroplast (D) Nucleus



21.

22.

23.

24.
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i ST JHAT ERT Bl ©

() ST (B) die

(C) wivH s (D) wewEr

A sexual reproduction takes place through budding in :
(A) Amoeba (B) Yeast

(C) Plasmodium (D) Leishmania
T 7 8 2

(A) SRR (B) diSE

(C) o=y (D) URFTHIT

The anther contains :

(A) Sepals (B) Owules

(C) Caspel (D) Pollen grains
frfafad & & B9-81 arplerss Tia 7&f ® °

(A) 9 (B) drE

(C) = (D) &q

Which of the following is not a natural ecosystem ?

(A) Forest (B) Pond

(C) Lake (D) Crop field

frafefad & & # iEwer-fE @Eer #Eaa § ?
(A) 9 F AT TERT HEA

(B) [T ST&d & qge qo 9@ & KAl

() fae= a% Yea S

(D) ST qHl

Which of the following are environment-friendly practices ?

(A) Use of cloth bags

(B) Switching off unnecessary lights and fans
(C) Walking to school

(D) All of the above
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26.

27.

28.

29.

30.
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(8) 105

HeEteeT fhaa R S ® 7 1
(A) FAEH &< AT UG H TSl (B) &I
(C) el (D) & & B Tl

Spinal cord is protected by :

(A) Vertebral column or back bone (B) Cranium

(C) Ribs (D) None of these

BAR ST H T U ST A FR EHA T e ERT 2 B 1
(A) TRaH (B) Mfcraci =g

(C) dfE = (D) RS T

Control and co-ordination are the functions of the hormones and............... in
our body.

(A) Brain (B) Relex arc

(C) Nervous system (D) Chemical Co-ordination

PI-G WA G A AN el T AR 8 e B GRE JEH F § 7 1
Which layer shields the surface of earth from ultraviolet radiations form Sun ?

Rt & a1 i Jorg B @ ? 1
Which sex chromosomes is present in females ?

BEiE & AR TR W o AT 9 gag 8d & B ... FEd 1

The inner lining of small intestine has numerous finger like projections
called ..................

EE| %w%aﬁm)w@%(w@reﬁaﬁrwwwsﬂﬁmaﬁﬁr%(Fl)
AN AT |

Mendel crossed a tall pra plant (TT) and a short plant (tt) and produced
progeny (F;) from them. All plants were ...................... .



